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Time : 2 Hours] [Total Marks : 50
YA :
(1)
7 A saida o Fanlanl Rodl Grizadl uz wasy audl, ~\ SeatNo.:
Fillup strictly the details of @ signs on your answer hook.
Mame of the Examination : || || I:I
rl B. Com. (Bridge Course in Commerce) |
Mame of the Subject : \
rl Statistics |
. . ¥ SectionNo. {1,2,.....} :
.-TUbJGCt CodeNo. : | Student's Signature /
\_ 7190 J

(2) sxugil olisyell wis UodAl Y2100l YAd 8,
(3) lvasly sipsl [Addl s2aiel 2uudmi 218l
(4) Alel 3asydar-l Gualal s3I uslal.

1 (20) e Wifsdl Haadial wiltdzaldl sypudl, [03]
(e) NAAl Bl vl qeus, veRy wid ogas Akl [o<]

X: 5-7 7-10 10-15 | 15-25 | 25-30 | 30-40 | 40-50

f: 2 5 13 20 8 12 10

(5) <Al Huladl uzell aqds [Quaq wid aqds [Gaa-is @il [o¥]
19, 25, 35, 10, 24, 08, 12, 05, 20, 30.
vyl
T (M) PedAuRAAL QB syl [o3]
(o) oA 5195 el W2 2~ M = 2.5 24l HeUs = 20 S, HEURY 2 olgds 9t [03]

(5} Al vooll Heusd 20813 23219 G4 ). [03]
1.8,2.3,3.9,2.0,1.5
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~ o~ NN LD

() A3 Haui o (55230 A vid B 210l Wil {12 wnlel 9 dl syeudi s 4l (322 [ov]
94, HRIAULL 6.

B522A:X = 44, $% =171

($523B :X = 53, S =24.35

~

(huBs Agfl vled 4?7 aan witaidl af@dd Al Ad-i sl w14 g0z [ov]

2

syElAl.
(6™ 2p, - ™Mb = 1017 Giudl, nalHl. [03]
(s)o0 (3). 7"P5 : (44)."P3iudl. nalldl, [o2]
(8) Hlaellenlsdl uaell stm arly Alda A3 bl [o¥]
ad 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020
A8 | 03 | o4 |08 | 06 | 07 | 12 | 09 | 10 | 14 | 12
(| 3. i)
2l
()0 R el 4L Gualell sypudl. [o¥]

()STATISTICS ot oltllsy viaRiAl Gualdl 53 sa 3ecl «dl 908l oididl  [oR]

AsA?

(5)591°Cy, = "Cadll, Z2Cnolitil. [03]

@) Al wlsdl uell 2 adly Aled w3 b [o¥]
qy 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019

“M35 | 150 | 157 | 165 | 160 | 168 | 172 | 177 | 175 | 180 | 185
($™M= 3. Hi)

(M)uaioiis 21289 ? (A58 2iugla-dl Adqi gel 2id gl sypudl. [o¥]
(6t)<tlAAl Hilgcdl vzell Y X wz<ll [Qadzioit 3w dadi, [o¥]

Yx=1020, Yy =990, ¥(x —170)? = 60, ¥(y — 165)% = 105,
2(x —170)(y — 165) = 45.
(s)oisleaaanifadl well 134l wRousl 4a 8. dl ddl urell Aweieitis Wln =  [o¥]
10, Y(x - %) =72, 5, =3, Y(v— 7?2 =160.
vyl
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3 (%) [Aadzieiy wied g2 [AadiviRisiqi opasl syudl. [o¥]
(WAL = 60, § =75, S2:cov(x%,y) = 5 : 3¢ di, y-ll x wl Radziois 2ou  [o¥]
HAAl wied delt Wl o722 X = 65 SR y il BHds], wiqid Hadl,

(5) o n=6 Yx=58 Yy =40, Yxy =431, Nx2 =606, Y y* = [o¥]

316 SiAdix wi y a2 UgRioitis il

Y (%) YAsAS 212897 (a4 YAsvsA vUedyAsBis W 2 sl w18 97 [o¥]

(o)1l sl weell fgroils otsyzuralaadl 4 2018 HZowad [Maledl Yasuis  [og]

-

ET
2014 2018
A4, -
624, UA3.) | eua(3.)

A 64 15 18

B 40 32 40

C 15 12 14

D 25 50 70
(8)<10l Huledl uzefl Agioitisel Bud 4. [o3]

n =20, cov(x, y) == 50, Sx = 15, y 4 [A4:0 = 64
A4

¥ (W)or2aiold AL YRASHISAL You Hel syRldl ddl Al BHR il d 4l [o¥]

IBIEIY. oy RILAL.
()13l wileell uzell Boiral wied yaswuisdl 22 3. [og]
MR A Alg ay,
AR _ _
@A) | A (3) | uaz.) | v (3)

A 9 45 15 75

B 8 80 12 132

C 4 24 05 30

D 1 04 1.25 10
(LU = Z22d v = L2 daiiby, = 0.9¢1Alby, -l Bad A, [o2]
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Instructions:

ENGLISH VERSION

(1) As per the instruction no. 1 of page no. 1.
(2) Figures to the right indicates full marks of the questions.
(3) statistical tables would be given on requests.
(4) simple calculator can be used.

1 (a) State the sources to get the secondary data. [03]
(b) Find the mean, median and mode from the following data; [06]
X: 5-7 7-10 10-15 | 15-25 | 25-30 | 30-40 | 40-50 |
f: 2 5 13 20 8 12 10
(c) Obtain quartile deviation and co-efficient of quartile deviation from the [04]
following data; 19, 25, 35, 10, 24, 08, 12, 05, 20, 30.
OR
1 (a) State the characteristics of ideal average. [03]
(b) If, for a data, Z— M = 2.5 and Mean = 20, then find median and mode. [03]
(c) Find the value of mean deviation from mean for the following data; [03]
1.8,2.3,3.9,2.0,15
(d) The information regarding two cricketer A and B is given below, then which  [04]
cricketer is more reliable.
Cricketer-A: X = 44, S? =171
Cricketer-B :X = 53, S =24.35
2 (a)What is time series? Also state the advantages and disadvantages of the [04]
method of moving average to find the trend.
(b) 1, 2p, : ™Up. = 10 : 7, then find the value of ‘I, [03]
() If, (3). >"P5 : (44)."Ps, then find the value of ‘. [02]
(d) Find the Three year moving average for the following data; [04]
Year 2011 | 2012 | 2013 | 2014 { 2015 | 2016 | 2017 | 2018 | 2019 | 2020
Sales
(in lakhs | 03 08 | 06 | 07 | 12 | 09 | 10 | 14 | 12
of Rs.)
OR
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2 (a) State the uses of time series. [04]

(b) How many new words can be formed by using all the letters of the word [02]

STATISTICS.
(c) If,"Cy, = "Cg, then find the value of 22Ch. fo3]
(d) Obtain the Four year moving average for the following data; {04}
Year 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019
Income
(in 150 | 157 | 165 | 160 | 168 | 172 | 177 | 175 | 180 | 185
Thousand
Rs.)

3 (a) What is correlation? State the advantages and disadvantages for the [04]
method of Scatter diagram.

(b) Obtain the regression line of Y on X from the following data; [04]
Yx=1020, Xy =990, Y(x —170)® = 60, Y (y — 165)% = 105,
Y(x—170)(y — 165) = 45.

{c) The following data is obtained from a bivariate information, calculate the [04

value of coefficient of correlation from it.

n =10, z(x - X)) =72, Sy =3, Z(y— 7)? =160.
OR
3 (a) What is regression? State the properties of regression coefficients. [04]
(b) X=60, =175 S2:cov(x,y) =5:3then obtain the regression [04]
equation of Y on X. Also estimate the value of Y, when X = 65.
() fn=6 Yx=258 Yy =40, YLxy =431, X x? =606, Yy = [04]

316 then find the value of coefficient of correlation between X and Y.

4 (a) What is Index number? Why Fisher’s index number is called ideal index [04]

number?
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(b) From the following data, find the value of the cost of living index number by

family budget method for the year, 2018.

(c) Calculative the value of coefficient of correlation for the following data;

2014 2018
Commodity
Quantity | Price (Rs.) Price (Rs.)
A 64 15 18
B 40 32 40
C 15 12 14
D 25 50 70

n =20, cov(x, y) =— 50, Sx = 15, variance of y =64 .

OR

4 (a) State the main points of the wholesale price index number. Also state the

merits and demerits of the fixed base year method.

(b) Obtain the value of Fisher’s ideal index number for the following data;

Base Year Current Year
Commodity Price | Expenditure | Price | Expenditure
(Rs.) (Rs.) (Rs.) (Rs.)
A 9 45 15 75
B 8 80 12 132
C 4 24 05 30
D 1 04 1.25 10

(c) If,U = X——;—Eand V= Z—?and byx = 0.9 then find the value of b_,
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